October 2015

IT Passport Examination

Questions must be answered in accordance with the following:

Question Nos. Q1-Q100
Question Selection All questions are compulsory.
Examination Time 9:30 — 12:15 (165 minutes)

Instructions:

1.

2.

Use a pencil. If you need to change an ansvase your previous answer completely
and neatly. Wipe away any eraser debris.

Mark your examinee information and your answeraccordance with the instructions

below. Your answer will not be graded if you dd naark properly. Do not mark nor
write on the answer sheet outside of the prescipbecks.

(1)

(2)

)

Examinee Number

Write your examinee number in the space provided,raark the appropriate space
below each digit.

Date of Birth

Write your date of birth (in numbers) exactly assitprinted on your examination
admission card, and mark the appropriate spaceviedgh digit.

Answers

Select one answer (a through d) for each question.

Mark your answers as shown in the following sangplestion.

[Sample Question]
Q1. In which month is the autumn IT Passport Examimatonducted in 2015?

a) August b) September c) October November
Since the correct answer is “c)” (October), markiryanswer sheet as follows:

[Sample Answer]

Q1 © ® ® ©

Do not open the exam booklet until instructed to do so.

Inquiries about the exam questions will not be answered.

-1 -



Company names and product names appearing in thmieation questions are trademarks or
registered trademarks of their respective compamese that the symbols ® and ™ are not used
within.



Answer questions Q1 through Q32 concerning technology.

Q1. When the six charactess b, c, d, e, andf are arranged in a row in any arbitrary order,
in how many ways caa andb be placed side-by-side?

a) 120 b) 240 c) 720 d) 1,440

Q2. When three balls are picked out consecutively feobox containing three white balls
and four black balls, which of the following is tluavest probability?

a) Probability of picking out the balls in orderld&ck, black, black
b) Probability of picking out the balls in orderldack, black, white
c) Probability of picking out the balls in orderldfck, white, black
d) Probability of picking out the balls in orderwhite, black, black

Q3. As shown in the figure below, decimal numbers 21@&,and 21 are represented using
five squares, each of which is either black or whit

2 ooOomd

mjm] [m] |
10 OmOm0
21 [ [m] |m] |

A white square indicates 0, and a black squareatids a different positive value that
is determined by the position of the square. Wihensum of the values of the five
squares shows a decimal number, which of the foligwis the numeric value
represented bpmooo?

a) 12 b) 20 c) 24 d) 30



Q4. There is a standard that can represent data ierarbhical structure by enclosing data
that corresponds to attribubé with the tags K>, which means the start, and\k,
which means the end, and then linking and nestiege tags. Comparfydecides to
comply with this standard and create a paper hygusie structural ruled) through(3)
below. Which of the following is the appropriatedder of a paper named “New
Document Management” that is created by Jack Swiitthe Information Systems
Department (I/S Department) in accordance withshasdard and the structural rules?

[Structural rules]
(1) A paper is composed of a header and a body text.
(2) The header is composed of a title and author inébion.
(3) Author information is composed of a name and adepent.

a) <header>
<author info>
<title>New Document Management
<name>Jack Smith</name><dept>I/S Departmenpttde
</title>
</author info>
</header>

b) <header>
<title>New Document Management</title>
<author info><name>Jack Smith</name></authorznfo
<dept>1/S Department</dept>
</header>

c) <header>
<title>New Document Management</title>
<author info>
<name>Jack Smith</name><dept>Il/S Departmentttdep
</author info>
</header>

d) <header>
<title>New Document Management</title>
<name>Jack Smith
<author info><dept>1/S Department</dept></autinéo>
</name>
</header>



Q5.

Q6.

Q7.

b)

c)

d)

d)

a)

b)

d)

Which of the following is an appropriate descripticoncerning EUC (End User
Computing)?

a) As EUC is widely spread, information systemsatgpents in companies come to

have large backlogs in software development.
EUC is characterized with system constructiod aperations management by end
users without using software packages at all.
To support EUC, training in programming languagech as COBOL, C, and Java is
important, and it is a key role of information srsis departments.

In order to achieve EUC, it is necessary to pi®\raining to end users in PCs or
commercially available applications, and also tedeeasy-to-operate development
tools and provide training in those tools.

Which of the following is an appropriate charadgci of tree data structure?

a) Data elements can be retrieved by traversingrarnchy of nodes from higher level

nodes to lower level nodes.

b) Data elements can be retrieved in the ordemiciwthey are stored.
c)

Data elements can be retrieved in the reverderdp the order in which they are
stored.

Data elements can be retrieved by traversinig celmposed of a data field and a
pointer field.

Which of the following is an appropriate explanataf Java?

It is an interpreter-type object-oriented largriadeveloped in the 1970s and
includes an integrated development environment adiikor and debugger as well as
OS functions.

It incorporates object-oriented concepts, sushclass and inheritance, into the
programming language C, and has upper compatibviity C.

It is a markup language used on the Web andribescthe document structure by
using tags. It enables the creation of hypertext links text, movies, etc.

It is an object-oriented language, and sourake ds compiled into a format called
bytecode that can be executed on a JVM (Java ViMaahine).



Q8. Which of the following is an appropriate descriptiooncerning the usage of HTML
(Hyper Text Markup Language) tags?

a) <LABEL> is used to define the title of a Web pag

b) <BODY> is used to describe the text of a Webepag

c) <BIG> is used to specify the size and style igpolio each character in a Web page.
d) <FORM> is used to divide a Web page into mudtiphmes.

Q9. Which of the following is an appropriate descriptiaf a multi-core processor?

a) An improvement in the throughput of the entirgstem is aimed at by
simultaneously executing different processing ichecore.

b) An improvement in the reliability of the procegsresult is aimed at by executing
the same processing in several cores.

c) Several cores are controlled by hardware aland,the OS is not required to have a

special function.
d) The throughput of the processor depends onlthemumber of cores, and does not
depend on the clock frequency.

Q10. Which of the following is required for an applicati program to use the peripheral
equipment that is connected to a PC?

a) Compiler b) Device driver
c) Plug and play d) Hot plug

Q11. Which of the following is a standard for wirelessnamunication between a PC and
peripheral devices?

a) Bluetooth b) IEEE 1394
c) PCI d) USB 3.0



Q12.Which of the following is an appropriate explanatmncerning the cache memory of a
PC?

a) Itis placed between the CPU core and main mgnaod is used to read and write
data at high speed.

b) Itis used to store the same data in two looatat the same time in order to improve
reliability.

c) Itis equipped with a mechanism that can rumev@rogram whose size exceeds the
main memory capacity.

d) It enables simultaneous access to main memamgkblby dividing main memory
into multiple blocks.

Q13. When information processing systems are classifigdheir processing methods as
shown in the figure below, which of the following an explanation of a horizontal
load distribution system?

Information . .
. Centralized processing system
processing system _|:

Distributed processing system

Horizontal distribution__

Horizontal function distribution system
system

— Horizontal load distribution system

Vertical distribution

—— Vertical function distribution system
system

— Vertical load distribution system

a) Data is entered and the processing requestseantts are displayed at client PCs.
The data is processed at the server side andsbksare returned as the responses.

b) A dedicated computer such as a print serverraaiserver is provided, in addition
to a computer that runs applications for procesbimgness data.

c) Sales data of a branch office is processed tgnaputer in each branch office and
the results are collected and processed by a cemauthe headquarters.

d) The same application runs on several computersthet processing is not
concentrated in one (1) computer.



Q14.Among the system configurations shown below, whathhe following has the lowest
probability of the entire system stopping on auia@? Here,{ - represents an
identical device. For the entire system to woikleast one device must be running
when the devices are connected in parallel, andealices must be running when the
devices are connected in serial.

a 1 o r b){ L
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Q15. Which of the following is an appropriate descripticoncerning the hardware
maintenance of a system?

a) The hardware device that has not failed forreageperiod of time is excluded from
scheduled maintenance.

b) It is safe to replace a failed hardware devidth whe latest model rather than the
same model, because compatibility is guaranteed.

c) Scheduled maintenance is performed only forhaeware device that has failed
before.

d) In preventive maintenance, measures are takenebe failure occurs.

Q16. Which of the following is the most appropriate posp of installing a business
application software package instead of self-dgyedoapplication software?

a) To enhance the environment of development

b) To reduce the cost of development

c) To acquire knowledge of software developmenthods
d) To improve the skills of application developers



Q17.Whenthe log file on a Web server is analyzed in daylgtem administration, which of
the following can be found?

a) Web pages accessed by Web site visitors

b) The model name of a computer used by each wisito
c) The speed of a Web browser on each visitor’'sprder
d) Personal information about individual Web siigtors

Q18. If data is repeatedly added to and deleted fromara disk on a PC, data may not be
stored in consecutive areas on the hard disk. Wleemeasures are taken, which of
the following can occur?

a) Viruses cannot be detected.

b) Data cannot be written correctly.

c) Data cannot be read correctly.

d) Stored data cannot be read quickly.

Q19. In theory, what color is printed by a printer, whefan, magenta, and yellow are mixed
together by a subtractive color mixture?

a) Blue b) Red c) Black d) Green

Q20. Which of the following is an appropriate explanatiof MP3, which is used as a
multimedia file format?

a) File compression format for G4 facsimile comnecation data
b) File compression format for audio data

c) File compression format for color image data

d) File compression format for digital video data



Q21. Which of the following effect is obtained by nornzaig the tables of a relational
database?

a) The number of disk accesses for data updatedisced by compiling frequently
used data in the same table.

b) Data inconsistency due to data update is preddoy eliminating data duplication.

c) The usage efficiency of the main memory is imp by making the size of the
tables uniform.

d) Response time for queries is shortened by radubie number of tables.

Q22. Which of the following is a purpose of using a t@se management system?

a) To enable users to access data even when sheoeQS available

b) To eliminate the need for backups created ipgmaion for disk failures

c) To encrypt data to be transmitted over a network

d) To enable multiple users to share informationevmaintaining data integrity

Q23. There is a system for entering and managing oifdens customers. Sequential order
number is printed on each order form in the ordeasraval unless the form has any
mistakes such as missing information. Before ttieoform shown below is entered
into the system, which of the following should lecked so as not to enter duplicated
order data?

Order data
Order number Orderdat‘e Product cdde Quantity Oustaode

a) Customer code b) Product code
c) Order number d) Order date
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Q24. In a company which has its offices dispersed inesgvbuildings, it is decided to
construct a relational database to manage theidosatwhere PCs are installed.
“Asset” table, “Room” table, and “Building” tablerea created, and these tables are
linked. When new data is entered, data in theetabl be referenced should exist
beforehand. Which of the following is the appragei sequence of entering data into
each table? Note that the underlined items in ¢alole indicate the primary keys or
the foreign keys.

Asset
PCNo BuildingNo | RoomNo | ModelName

Room

BuildingNo | RoomNo | RoomName

Building

BuildingNo | BuildingName

a) “Asset” table— “Building” table — “Room” table
b) “Building” table— “Room” table— “Asset” table

c) “Room” table— “Asset” table— “Building” table
d) “Room” table— “Building” table — “Asset” table

Q25. A DHCP server has been installed in a LAN. WhenCatRat automatically acquires
information from the DHCP server is to be connectedhe LAN, which of the
following will be set in the PC?

a) IP address
b) Latest virus definition file

c) Address list of spam mail
d) Mail addresses assigned by the provider

Q26. Which of the following is the unit of the data tesmission speed in a network?

a) bps b) fps C) ppm d) rpm
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Q27. Which of the following is an appropriate explanatiooncerning the function of a

router?
a) It optically reads pictures and texts and caisvitlem into digital data.
b) It converts analog signals to digital signald &ite versa.
c) It controls the communication path of data agldys data across networks.
d) It archives and provides Web page data via nédsvo

Q28. Which of the following is appropriate for the daption of Bcc recipients of an
e-mail?

a)
b)

c)
d)

The e-mail is automatically encrypted beforengeient to Bcc recipients.

The text is deleted from the e-mail and an e-cmitaining only the subject is sent
to the Bcc recipients.

The Bcc addresses are not revealed to othgrieets of the e-mail.

The destination specified in Bcc is the notifica destination when a delivery error
occurs.

Q29. Which of the following is an appropriate exampleébadmetric authentication?

a)

b)

c)
d)

Authentication is performed by a password tlgatkmown only to the person
concerned.

Authentication is performed by an identificaticerd that belongs only to the person
concerned.

Authentication is performed by using the fingens of the person concerned.
Authentication is performed by using a one-tjpagsword.
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Q30. Among the handling of a smartphone, which of thHefang is inappropriate from the
viewpoint of security?

a) The smartphone data, which would cause a prolflémvere deleted, is encrypted
and stored at a location separate from the smargpho

b) Since a smartphone may also be infected byus vantivirus software is installed.

c) Since a smartphone is in its highest state afirsy when it is purchased, it is used
without updating the OS.

d) When a smartphone is lost, remote lock and remqte is performed.

Q31. Among information security measur@sthroughD implemented in the workplace to
maintain the “confidentiality” and “integrity” ofiformation, which of the following is
a list of only the appropriate measures?

A: PCs should remain unlocked to keep them readyperation from the start to
the end of the business day.

B: Documents and electronic storage media, suchx& Containing important
information, should be stored in locked cabinetsegx when they are used.

C: Documents sent or received by facsimile shouldpiked up immediately
without being left unattended on the tray.

D: Messages or information written on the whiteboastould be erased

immediately after use.

a) A B b) A B,D ¢) B,D d) B,C,D

Q32. Which of the following is the term that is used fbe drawbacks and defects that may
exist in computer systems or networks and can bgloged for unauthorized

accesses?
a) Incidents b) Security holes
c) Hacking d) Forensics
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Answer questions Q33 through Q54 concerning management.

Q33. A new system is required to operate 24 hours a 3Bfy,days a year. Which of the
following is the development phase that involvekimg such a decision?

a) Software acceptance b) Testing
c) Programming d) Requirements definition

Q34. A system migration plan was created for the switoim an existing system to a new
system. Which of the following is an appropriatemtto be described in the system
migration plan?

a) System selection policy

b) Schedule for parallel operation of the old ard/Isystems
c) Evaluation criteria for the quality of the delnables

d) The work history of project members

Q35. Among the description& throughD below, which of the following is the list that
contains all items that are to be considered indésgn of easy-to-use user interface
for system users?

A: The time to recover from a failure

B: The ease of learning methods of operation
C: The layout of pushbuttons

D: The size and color of text

a) AB,C b) A B,D c) A C,D d) B,C,D
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Q36.Which of the following is an appropriate test itéorbe performed by the integration test
in the software development process?

a) Connecting several PCs on a LAN, and testirengure that files can be shared

b) Checking the shape of the connector on the d¢hbteconnects a PC and a peripheral
device, and testing to ensure that the cable camo®thly inserted

c) Testing to ensure that after a contract is slgwéh an Internet service provider,
Web sites can be accessed from the browser

d) Combining two or more programs after the urst,tand testing to ensure that the
program interfaces are implemented in accordantle the specifications and are

properly bound together

Q37. In a newly outsourced system development, the ptannstall software to the
production environment is explained to the custom&Yhich of the following is an
appropriate phase for performing the activitieselblasn this plan?

a) Integration test b) System test
c) Software deployment d) Software maintenance

Q38. Which of the following is part of software maingece?

a) Adding more development staff in advance whaa found that the development
cannot be completed on schedule

b) Discovering a program that may cause a failage@rrecting it in advance

c) Replacing a disk with one with a larger capadgityadvance since data size is

increasing
d) Projecting the scale of program developmentdbaserequirement specifications
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Q39. When word processing software, spreadsheet sataaother application software is
installed on multiple PCs, which of the following an appropriate point to be
considered by the system administrator?

a) To improve data compatibility and reduce therse cost, the standardized software
should be installed.
b) If the software has an online help function,réhis no need of support from the

vendor.

c) Users have their own preference on which sofwiar use, so they should be
allowed to select the software to be installed.

d) Users should be allowed to install free softwate their discretion if it is
downloadable from the Internet.

Q40. Which of the following is an advantage of dividitige software development process
into four phases—requirements definition, systemsigte programming, and
testing—and then executing them in this order?

a) It provides flexibility to handle changes intsadre specifications at any point of the
development phases.

b) It contributes to the ease of understandingtbgress status of development.

c) Itrequires fewer person-hours spent for reviewthe upstream phases.

d) It allows users to try the software at an eathge of development.

Q41. Which of the following is the development model wha trial system is developed at
an early stage of system development so that userverify their requirements in a
tangible manner?

a) Growth model b) Incremental model
c) Spiral model d) Prototyping model
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Q42. Mr. A is appointed as the project manager of a progeetdd functions to the finance
system. He gets a risk checklist that was usedpast project in order to create a new
risk checklist for the project. Which of the foNng is an appropriate description
concerning the risk checklist?

a)

b)

c)

d)

Because the past risk checklist was createddbase past information and
knowledge, it is used as a reference for the neagldlst that is to be created.
Because the past risk checkilist is created basquhst information and knowledge,
risks that are not mentioned in it do not neede@dnsidered.

The past risk checklist is used without modiima in order to ensure that there are
no discrepancies between projects.

Because risks change with projects, a new tgcklist is created based on only the
risks that are not mentioned in the past risk clgtck

Q43. Five staff members with the same productivity esgigned to an activity that takes 20
days. Immediately before the start of the actjuityee members have influenza and
are replaced by new members. When the new memb@ductivity is 60% of the
original members’, what is the minimum number ofvregaff members that is needed
to complete the activity in 20 days or less?

a)

4 b) 5 Q) 7 d) 9

Q44. Which of the following is an appropriate descripti@oncerning the component
breakdown of the WBS (Work Breakdown Structureplioject management?

a)

b)

c)

d)

The most detailed level of the component breakd@nables accurate project

planning and cost estimation.
The most detailed level of the component breaekdis always the same regardless

of the project scale.
The number of levels of the component breakdmaaiways the same regardless of

the project scale.
The deeper the level of the component breakdewthe higher the level of the work

efficiency becomes.
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Q45. Forms of communication include reciprocal-type camination, by which
information is exchanged among two (2) or moreipsrpush-type communication, by
which information is sent to specified persons; pati-type communication, by which
persons access necessary information under theirvolition. Which of the following
is a description of pull-type communication?

a) Looking up progress meeting schedules on amialt®ulletin board site
b) Coordinating progress meeting schedules withrkegnbers via telephone
c) Using a teleconferencing system to conduct msggmeetings

d) Attaching the minutes of progress meetings taikfor distribution

Q46. In a certain IT service, four (4) priority levelseaset for system changes: urgent, high,
medium, and low. Among the proposed changes, wiiiche following is the change
that should be classified as “urgent”? Here, charage released regularly at the end of
each month.

Priority Description

Fixing problems that pose a risk to human life oragly reducsq
Urgent | the ability to provide important public servicesdathat call for
immediate response

Fixing problems that have a severe impact on sevaortant
High | users, or have an impact on many users, and thdbc@rompt

response
Fixing problems that do not have a severe impadt,chnnot bg
postponed until the next regular release

Items for which change is required, but for whichitimg until
the next regular release is possible

Medium

Low

a) System changes related to improving the funatiosupplementary lookup screens
necessary for the launch of new services in twovggks
b) System changes related to countermeasures tesaddailures in an electronic

conference system that has many corporate users

c) System changes related to measures to addreks fa a disaster information
system that is used for making decisions on isslaicgl evacuation advisories

d) Repair of program bugs that can be completethéyrocessing date in the coming
month
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Q47. Which of the following is classified as the C (j.€heck) of the PDCA cycle for service
management concerning a mail system?

a)

b)

d)

A review of server configuration was proposedhorten the response time of the
mail system.

An availability target was set for the mail gyst and necessary resources were
clearly identified.

The number of faults and the recovery time weeasured for the mail system, and
Its availability was calculated from them and coneplawith target values.

Storage allocation and other system setup tagke performed in accordance with
details of the mail system design.

Q48. An organization is going to set up a service deskespond to information system
users. Which of the following is the most apprafgidescription concerning incident
handling by the service desk?

a)

b)

d)

In response to fault reports from users, theiseidesk provides information to them
after a resolution method has been formally decided

The service desk responds to fault reports fisars with the primary aim of
restoration of service, not investigation of thesss of faults.

For receipt of user inquiries, the service defsihdardizes on a single method such
as e-mail, telephone, or FAX, regardless of coodgiin users’ organizations.

The service desk keeps records of only the umspriries that are not able to be
quickly resolved.

Q49. Which of the following is an appropriate explanaticoncerning the usage of a UPS
(Uninterrupted Power Supply)?

a)

b)

d)

It is used as a spare battery for a cell phoroeder to use the cell phone for a longer
time.

It is used to continue the supply of power wlkzetong power failure occurs in a
computer center.

It is used to temporarily supply power to a coiep when a power failure occurs,
and to safeguard the computer against a momentapyinl voltage.

It is used to enable the use of a computer fong time in an outdoor area where no
other power source is available.
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Q50. A part of a program was changed to add a new fondid a system in operation.
Which of the following is the most appropriate eownment that is used for testing the
changed program and determining whether or notiit lse brought into system in
operation?

a) Programming environment

b) Test environment for other systems

c) Production environment

d) Test environment equivalent to production

Q51. Which of the following is the appropriate use cfegurity cable (or security wire)?

a) Preventing critical equipment from being destin a fire

b) Preventing notebook PCs in the office from bestajen

c) Preventing the screens of mobile PCs used autk&loffice from being peeped at
d) Supplying alternative power to the system indgtient of a power failure

Q52. Which of the following is an appropriate explanataf system auditing?

a) Itis implemented on the basis of ISO 9001 gquatanagement system standards.
b) It confirms conformity with ISO 14001 environmenanagement system standards.
c) Itis a general name for audits that use ITragwaditing tool.

d) It verifies and evaluates information systems.

Q53. Types of governance within a company include IT egoance and corporate
governance. Which of the following is an appropriekplanation of the positioning of
IT governance?

a) IT governance and corporate governance areathe soncepts.

b) IT governance and corporate governance are agposncepts.

c) Corporate governance is one (1) component gboMernance.

d) IT governance is an indispensable element gfarate governance.
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Q54. CompanyA’s internal auditors conduct a system audit coriogrthe company’s BCP
(Business Continuity Plan). The system audit foundthe backup measures for
computer power supplies that some of the batteneshe uninterruptible power
supplies managed by the System Operations Deparanemleteriorated. Which of the
following is the party responsible for making impemnents in response to the finding?

a) Head of the System Operations Department

b) Person responsible for system development

c) Internal auditor

d) Head of the Purchasing Department, who purchdseduninterruptible power
supplies
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Answer questions Q55 through Q88 concerning strategy.

Q55. Which of the following is the appropriate combiwoatiof words and phrases to be
inserted into blank#é andB in the description below, concerning companiesaking
and receiving investments?

Company C is making an investment in Compary. To increase its
CompanyD, CompanyC may .

A B
a) | control over sell a portion of stocks
b) | control over acquire additional stocks
c) | ratio of shareholding in dispatch auditors
d) | ratio of shareholding in dispatch directors

Q56. Which of the following is the most appropriate aityi based on CSR (Corporate Social
Responsibility)?

a) Providing products that require less materidlless electricity

b) Providing products differentiated from compestdy adding new functions

c) Providing products that meet various market seleyl adopting a cell production
system

d) Providing products that the company did notmtiy acquiring other companies
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Q57. Which of the following has a negative correlatia@ivileen temperature and total sales?
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Q58. In order to prepare for any potential bad debt croants receivable from a business
partner, which of the following is an action thatables the appropriation of a part of
the business partner’s property for accounts retddv more preferentially than the

other?

a) Adding debt
c) Setting collateral

b)
d)

Issuing an invoice
Increasing interest

Q59. Which of the following is an appropriate rule forngethod of resolving problems

called “brainstorming”?

a) Participants should select and present only-bigility ideas among their own ideas.
b) Participants should criticize another particifgiteas without hesitation.

c) Participants should avoid presenting bettersdeesed on another participant’s.

d) Participants should listen to freewheeling apmsi, including unique ideas.
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Q60. The design quality of software is associated whh gkills of the designers, the design
methods, the design tools, and other factors. Wabidhe following is an appropriate
name for a diagram or a chart that resembles adrsh and is used for identifying the
items that affect the quality?

a) Arrow diagram b) Cause and effect diagram
c) Pareto chart d) Matrix diagram

Q61. Which of the following is an appropriate exampleagbractice based on the concept of
Green IT?

a) Use of displays that reduce eye fatigue frone lED light

b) Installation of air shower devices in servermoentrances and exits

c) Construction of backup systems in preparatiordisasters

d) Making a rule of viewing materials on PC screans limiting their printing on
paper

Q62. Which of the following is an international book e

a) EAN b) ISBN c) ITF d) UPC

Q63. Which of the following is the most appropriate kxmation of “digital divide” in
relation to information technologies and services?

a) It refers to the economic or social gap betwiéwmse who take full advantage of
information equipment and those who do not.

b) It refers to an environment where all peopleludimg handicapped people and
senior citizens have access to the Internet bygusiormation devices.

c) It refers to the level of availability of infotion equipment and services for all
people including handicapped people and seniaretis.

d) It refers to the people who cannot obtain infation because of their lack of
knowledge or skills about information equipmenttsas PC.
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Q64. Which of the following is the characteristic of @Bde?

a) Reading direction is identified using positictettion patterns (cut-out symbols).

b) It requires more space than a one-dimensionalcbde to represent the same
amount of data.

c) It can only encode numbers and alphabeticalaciears.

d) Itis a stacked bar code, which is composed séteof bar codes stacked vertically
one above another.

Q65. Which of the following is an appropriate descriptiaf certification to ISO 9001:20087?

a) Once a party is certified, the certificatiorp&manent.

b) Certification is applied to manufacturing inttiess, not to service industries.

c) There is only one certification body in eachiiy.

d) Organizations which fulfill the internationgbhadard “Quality Management System
- Requirements” are assessed and certified.

Q66. Which of the following is an explanation of fredtsare?

a) It can be installed on any number of computetisaut limitation in a predetermined
location of use.

b) It requires users to pay predetermined chameke developer if it continues to be
used after a certain period of free trial.

c) It is commercially available and is permitted lbe installed on one or more
computers.

d) It is provided without charge, or it can be nfiedi, copied, and distributed without
restriction under a license agreement.

Q67. Which of the following is an item that aims to sexyreferred customers and
continuously generate profits, by creating databaske customer information and
contact history and by building positive relatioshwith customers through prompt
response to their questions and requests?

a) CRM b) HRM c) PPM d) SCM
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Q68. In

order to reduce the number of in-process ortaegls items between processes,

production is carried out in each process accortbrihe requests from the subsequent
process and only the required number of the reduiesns are supplied at the required
time to the subsequent process. Which of thevatig is the system that performs

this type of production?

a) Just-in-time production system b) Cell produttsystem

c)

Build-to-stock production system  d) Lot prodantsystem

Q69. The utilization of electronic commerce is one oé thusiness strategies for creating
competitive superiority. Which of the following‘iB to C” electronic commerce?

a)
b)
C)

d)

An auction site where general consumers setlynts

An Internet shopping site for general consumers

A site for transactions between businesses, ascbale of raw materials to other
companies

An in-house sales site for the company’'s emmeytor the purpose of welfare
benefits

Q70. Which of the following is an appropriate explanatiof opinion leaders who are
thought to be important for market penetration ata product?

a)

b)

d)

The tier of people who purchase the product afieking sure that many people are
using it.
The tier of people who take a cautious appraauth purchase the product after

checking with the early buyers
The tier of people who purchase the productydaaked on their judgment and have

an influence on other consumers who follow behind
The tier of people who are adventurous enougtake the initiative in purchasing

the product
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Q71.Which of the following is a method for analyzingethhehavior of a visitor based on
information such as the number of accesses to a 8eband the browsing history
within the Web site?

a) Regression analysis b) Cluster analysis
c) Access log analysis d) Value chain analysis

Q72. CompanyA is evaluating the business strategy that was imgeed last fiscal year.
When the conditions are as shown in the table heldvat is the score of the overall
evaluation?

Strategic Actual . . .| Score
item Target record Evaluation method and criterig weighting

- When the actual rate of
increase in sales is 2% or
higher, 110 points are given.

- When the actual rate is over 1%

Classification

Rate of and below 2%, 100 points are
increasein| 2.5% | 2.4% | given. 0.5
sales - When the actual rate is over 0%
and below 1%, 90 points are
Quantitative given.
items - In cases other than the abovej 0

points are given.
- When the actual number of
newly developed products is 2

Number of : ;
newl or more, 110 points are given,
Y 2 1 - When the actual number is 1, 0.3
developed . .
100 points are given.
products

- In cases other than the above| 0
points are given.

- When the actual customer
satisfaction is one or more

Qualitative Customer ranks higher than the target, 0.2

item satisfaction 100 points are given. ’

- In cases other than the above| 0
points are given.

[Method of the overall evaluation]

(1) A score is calculated for each strategic itgmubing the evaluation method and
the criteria set.

(2) Each score calculated in (1) is multiplied hg score weighting, and then the
resulting scores are added together to obtain dted teighted score of the
overall evaluation.

a) 75 b) 82 c) 85 d) 105
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Q73. Which of the following is the most appropriate exption of a patent strategy of
cross-licensing?

a) The acquisition of patents held by a compangufin absorption-style merger, to

gain that company’s technology

b) Implementation of joint research with other argations, to complement a
company’s own technologies and apply for patents

c) Granting a company's own patents to other conesaand obtaining royalties

commensurate with their value
d) Mutual consent between patent holders on theotisach other’s patents

Q74. Which of the following is an appropriate explanatiof CAD, as used in the
manufacturing industry?

a) The derivation of the required quantity of miatlsrfrom a product production plan
and the placement of orders for the materials.
b) The management of the information of componesgsni-finished products, or

quantities

c) The unified management of the information in frecess from design through
manufacturing, such as design documents or compoaiges.

d) The use of computers in product design to imeritne productivity of the designing
process and the reliability of design specification

Q75. Which of the following is a technology that is defd by some international standards
and used for contactless IC cards, such as tifiegiblic transport?

a) IrDA b) RFID c) Bluetooth d) Wi-Fi
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Q76. Which of the following is an example of embeddefivgare?

a)
b)
c)
d)

Operating systems that are pre-installed in PCs

Game software that is downloaded by users totphmanes

Software that performs automatic focus in digitaneras

Updated map data for car navigation systemsyded on auxiliary memory media

Q77. Which of the following is the situation where anprmavement can be expected by
installing an MRP (Material Requirements Plannisiggtem?

a)

b)

d)

Drawing information is managed on both electdiles and hard copies, so the
history of design changes cannot be correctly wstded.

Information about materials necessary for martufeng and their required
guantities is complicated, so order quantitiesadiren miscalculated and production
is adversely affected.

There are many design changes, so productiamesity is low.

High-mix, low-volume production is adopted, $w tcost of installing production
equipment is increasing.

Q78. Which of the following is an explanation of EDI @€tronic Data Interchange)?

a)

b)

d)

It is an international standard for e-mail seegi based on the OSI reference model,
which provides comprehensive services for the meattransmission, and
processing of messages. It also enables the ameection between heterogeneous
systems.

It is the exchange of business transaction detiaveen computers (including
terminals) over a communication line. A set ofngi@d protocols is used to
describe various rules and regulations that musblb®ved by the parties involved.

It is a communication service that provides addelue, such as storage of data
transmitted over the network and conversion of fataats.

It is a system that allows orders to be placettdnsmitting their information from a
data entry terminal to the head office or a suppli§his system saves labor in
processing orders, and improves the efficiencyagistics and inventory control.
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Q79. Which of the following is an appropriate explanatmf a point card system (or loyalty
program) implemented by retail businesses?

a)

b)
c)

d)

It is a system that enables card holders tchdp@ng within a credit limit through
deferred payment of the amount.

It is a system that enables the payment oftbeing through a bank ATM card.

It is a system where credit corresponding tccpase amount is accumulated on a
card, and services are offered according to theraatated credit.

It is a system where an amount is prepaid om$semption of purchase of products,
and some amount is deducted from the card eachatipneduct is purchased.

Q80. Which of the following is an appropriate explanatiof POS terminals (or POS cash
registers) in a supermarket and other such places?

a)

b)

d)

They are terminals of the system used for cisigand managing information such
as the product code and price at the time of asdaésaction (at the “Point of

Sale”).

They are terminals of the “Purchase Order Systand are mainly used to automate
purchase orders for the replenishment of products.

They are terminals of the strategic product mganzent system developed for
monitoring the “Probability of Survival” of suchquiucts.

They are terminals of the inventory managemssiiesn first manufactured in “Port

of Spain”, and they hold an overwhelming marketsha
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Q81.Which of the following is an appropriate main oltjee of information system strategy
creation?

a)

b)

d)

First, to clarify requirements for new work amdformation systems to be
constructed and, second, to determine the scogeroputerization and specify its
specific functions from the requirements

To clarify the ideals for information systemseaall based on management strategy,
and to determine organization’ s optimization pplfor the information systems
overall

To determine the organization’s development wdthand management methods for
information system development, and set standasdepiures for development and
management based on the standard procedures

To organize requirements for the targeted bgsirgctivity and the information
systems to be constructed, and to create policy aandmplementation plan for
computerization

Q82. Which of the following is the most appropriate dgston concerning the role of CIO?

a)

b)

d)

Making an audit of the company from an objecst@ndpoint in order to check if
there is no problem with business operations antbhirol works effectively

Playing a leading role in planning and executadnan information strategy for
implementing a business strategy

Establishing a personnel system for implementagbusiness strategy, and
controlling overall administrative operations suel understanding the actual
situation of services

Improving the efficiency of allocating companyntls, and ensuring the accuracy of
financial accounting
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Q83. Which of the following is an appropriate descriptimoncerning groupware?

a) It is software that has an animation or audicfion and is useful when making

presentations effective by incorporating the outpéitspreadsheet software or
database software.

b) It is software that has functions, such setfinigit layout or changing and editing
texts, and is used for creating documents.
c) It is software that has functions, such as comigation via e-mail and electronic

bulletin boards, data sharing, and schedule managierand supports collaborative
work.

d) It is software that is used to enter data irgliscof a worksheet, create tables, and
tabulate data.

Q84. Which of the following is used as a management ®ath as a decision-making
support system for accumulating and consolidatingrge amount of data acquired
through various business activities and therebyignog helpful and meaningful data?

a) Data mapping b) Data warehouse
c) Data dictionary d) Data modeling
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Q85. In system development, which of the following i® tprocess in which the business
functions to be newly constructed or reconstrueteiclarified and the scope and the
functions of the information system are specificapecified based on the business

functions?
a) External design b) Internal design
c) Programming d) Requirements definition

Q86. When an error message to be displayed by an apphcarogram is designed, which
of the following is an appropriate item to be coesed?

a)

b)

c)

d)

Only the fact and details of the error, ratheant the way of handling the error,

should be displayed.
Only the information that system developers nigedientify the cause of the error

should be displayed.
Since it is desirable that the error messagashbghort as possible, the abbreviation

and error code should be displayed as they are.
The action to be taken by a user should be ayspl briefly and precisely with the

error message.

Q87. Which of the following is an explanation of “actapce inspection” performed on a

vendor?

a)

b)

c)

d)

Checking the estimate submitted by the vendor p placing an order based on the

estimate
Checking whether the deliverables provided bg tendor conform to the

requirements specifications
Requesting the vendor to provide information tbe purpose of collecting

information
Requesting the vendor to study and submit tbpgsal for the construction of a new

system
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Q88. Which of the following is the most appropriate dgston concerning the creation of
documents in the development and maintenance taa?

a)

b)

d)

When an itemized list or a chart is used, thenimg and the content of the
documents become unclear. Therefore, text basedatural language is used as
much as possible.

Because it is important to make the relationsbhgtween documents clear,
consistency checks of the content of the documesantslead to an improvement in
quality.

Duplication and redundancy of the content obauwinent are necessary to improve
not only the maintainability of the software busalthe maintainability of the
document.

The first priority is that a document can be enstbod better by developers than by
maintenance personnel, and it is desirable to ingproductivity without taking too
much time.
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Answer questions A through C, each of which has four questions.

Read the following description concerning softwdevelopment work,
and then answer the four questions.

In CompanyS, a machine manufacturer, the development actsvAighroughH of
software to be embedded in prodicthereinafter, softwar¥) are planned as shown in
Table 1 below. Here, pre-work refers to the adssitthat must end before the relevant
activity is started, and each activity starts imratgly after the pre-work ends. The cost
of each activity is added up at the time of comgptebf each activity.

Table 1 Activities of software X development

. Number . Number
Activity Cost | Pre-work Activity Cost | Pre-work
of days of days
A 2 5 None E 5 6 D
B 3 7 A F 2 5
C 4 4 B G 6 6 D, F
D 4 5 A H 7 12 CEG

Figure 1 is an arrow diagram that is created orb#sss of Table 1.

[Legend]
O Activity ><>
Number of days

——> : Dummy work

H

Figure 1 Arrow diagram of development activities of software X
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[Strategy]
Q89. What is the number of days required to completedthelopment of softwans?

a) 16 b) 17 c) 18 d) 19

[Technology]

Q90. The development of softwadeproceeds according to Table 1. Which of the foillayv
is the appropriate graph that shows the accumulatedl of the cost from the start of
the work until the 10th day?

a) b)
= 35 + 35
[2] [22}
830 93
G 25 525
:820 32
815 81“
® 10 © 1
g5 2 5
3 3
Q 0 Q
2 12345678910 £ 12345678910
Number of days Number of days
c) d)
535 35
93 330
525 G 25
82 £20
515 515
&1 5 10
=S
2 5 2 5
3 3
g 12345678910 2 12345678910
Number of days Number of days
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[Management]

Q91. Compared with other activities, activity involves a large number of days. When the
content of activityH is checked, it is found that if an additional castborne, the
activities can be divided into the three (3) catexofH1 throughH3. The number of
days, cost, and pre-work of each activity after dingsion are as shown in Table 2.
Which of the following is an appropriate descripticoncerning the cost and the effect
at this time?

Table 2 Number of days, cost, and pre-work of each activity after division

. Number
Activity Cost | Pre-work
of days
H1 3 5 C,EG
H2 2 6 C,EG
H3 2 4 H1, H2

a) When two (2) is added to the cost, actititgan be shortened by two (2) days.

b) When two (2) is added to the cost, activtgan be shortened by three (3) days.
c) When three (3) is added to the cost, actiMityan be shortened by two (2) days.
d) When three (3) is added to the cost, actiMityan be shortened by three (3) days.

[Management]
Q92. Since one of the pre-works did not end on time sthae of activityH is delayed by one
(1) day. Which of the following is an appropriatuse of the delay?

a) The activityC is delayed by three (3) days.
b) The activityC is delayed by four (4) days.
c) The activityF is delayed by one (1) day.

d) The activityF is delayed by two (2) days.
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OlINesl2] Read the following description concerning the adstiation of a

questionnaire by e-mail, and then answer the foestjons.

Mr. F from the HR (Human Resources) department of Compans asked by his
manager to conduct an employee satisfaction susyeymail. The survey is conducted
by attaching a questionnaire for the satisfactiomvesy that is created with word
processing software and then returning the queastioa by e-mail.

The instructions provided by the manager of Mare as follows:

(1)

(@)

3)

(4)

(5)

The purpose, respondents, method of replyimg, deadline of the satisfaction
survey are clearly described in the e-malil text..

Mr. F attaches a questionnaire to a request e-mail emdksst to all the employees.
For collecting the filled-out questionnaires, enygles return the filled-out
guestionnaires by sending them back to Mras an e-mail attachment. The
deadline is the end of the next month.

As the company would like to have replies te tjuestionnaire from 90% or more
of all the employees, a personal reminder e-maiérd to all the employees who do
not reply two working days before the deadline.

Based on the reply e-mails, a check mark isquaan the employee list in order to
record all the respondents.

The returned questionnaire documents are stareda shared folder for
guestionnaires (hereinafter called shared folder)tlee server. Only the HR
department can access the shared folder. Theneetuguestionnaires are saved
separately by department of respondents with anfitee that enables the employee
to be identified. The reply e-mails for questioines are stored separately from
other received e-mails until the tabulation prodgssompleted.
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[Strategy]

Q93. Mr. F creates an e-mail for sending a request for ppation in the questionnaire
survey to employees so that the instructions gil®n his manager can be
accomplished. Which of the following is the apprafe description to be inserted
into blankA?

d)

In order to improve the working environment, a &attion survey is to be
conducted. All the employees are in the scope@strvey.[ 4.

The deadline is the end of next month. We lookvéoyd to your cooperation and
support.

Please contact ME of the HR department for any questions aboutdbrsey.

All the employees are in the scope of this syrge please be sure to keep to the
deadline.

Please ensure that there are no mistakes indéta@ls that you write in the
guestionnaire.

Please fill out the attached questionnaire dantimand return it as an attachment of
the reply e-mail.

Two days before the deadline for response, anasn e-mail is sent to all the
employees who are yet to reply.

[Technology]

Q94. Which of the following is the appropriate methaa $etting addresses prior to sending
the questionnaire to all the employees in ordeprevent unforeseen or potential
problems that may occur when the questionnairetigmed from each employee?

a)
b)
C)
d)

Setting the addresses of all the employeesii @ and BCC fields
Setting the addresses of all the employeesiartlye BCC field
Setting the addresses of all the employeesiartlye CC field
Setting the addresses of all the employeesiartlye TO field
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[Technology]
Q95. Which of the following is the most appropriate pedare for returning the
guestionnaire attached to the e-mail on the bdgseanstructions given by ME?

a)

b)

d)

Open the attachment file, fill out the quest@ming, and save it on a PC. Create a
new e-mail, set the recipient to the HR departmattach the file saved on the PC,
and send the e-mail.

Open the attachment file, fill out the questiain®, and save it on a PC. Select
“Reply”, attach the file saved on the PC to thdyepmail, and send the e-mail.

Save the attachment file on a PC. Select “Repliite the results of questionnaire
in the text of the created e-mail, and send theag-m

Save the attachment file on a PC. Select “Rephlyrite the results of the
questionnaire in the text of the created e-maigcht the file saved on PC, and send
the e-mail.

[Technology]
Q96. Mr. F decides to arrange the questionnaires accorditigetostructions that are given

by his manager. Which of the following is the agmprate method for arranging
guestionnaires?

a)

b)

d)

Create a new folder in the Inbox, and storerépdy e-mails for the questionnaire
survey. In the shared folder, create folders hyadinent and save the attachment
files. Each file has an employee name and employeaber as the file name so
that the respondents can be identified. For eawpleyee whose file is saved,
place a check mark in the employee list.

Create a new folder in the Inbox and store t@yre-mails for the questionnaire
survey. In the shared folder, create folders hyadinent and save the attachment
files. Each file has an employee name and employeeber as the file name so
that the respondents can be identified. For eawpleee whose file is saved,
place a check mark in the employee list, and détete-mail from the Inbox.

Create a new folder in the Inbox and store t@yre-mails for the questionnaire
survey. Save the attachment files in the sharktefo Each file has a department
name as the file name so that the department catehéfied. For each employee
whose file is saved, place a check mark in the eyad list.

Store the reply e-mails for the questionnairevey in the Inbox. Save the
attachment files in the shared folder as is. FR@heemployee whose file is saved,
place a check mark in the employee list.
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Read the following description concerning the togaof business reports,
and then answer the four questions.

In the general affairs department of Comp&heach staff member creates his or her
weekly business report that contains the work iicand stores it on the department’s
file server (hereinafter, department server). Ties that are defined by the general
affairs department for creating business repodsaardescribed below.

[Rules for creating business reports]

(1) The business reports are to be created by asiamplate file, which indicates the
information to be reported. The name of the teneplafile is
“BusinessReport(Template)”, and it is stored in thad-only “Template” folder
on the department server.

(2) The filename format for a business report drenotation rules are as shown in
Table 1 below.

Tablel Filenameformat for abusinessreport and the notation rules

Filename format “Report_" + yymm + w + creator'sma

(i) Characters that are enclosed in quotation mérks
are used as is in the filename.

(i) yymm indicates the year and month of the regtre
year uses the the Gregorian calendar or the Wegstern
calendar and is composed of the lower two digis).
is a sequential number indicating which week of|the
relevant month the report is made. The numbers of
y's, m's, and w’'s indicate the number of digits dise
for each element.

(i) “+” means that the elements before and aftiee
symbol are concatenated, and is not included in the
actual filename.

Notation rules

(3) A business report is first to be created ingkesonal folder of a PC temporarily.
After it is completed, the business report is gtarethe “Reports” folder on the
department server.

(4) On the department server, only completed bgsineports are stored. If a
business report needs to be edited, it is firsteddw the personal folder of a PC
and then edited.

(5) If there is any document that relates to a ress report (hereinafter, related
document), it is stored in the “Reports” folder the department server. The
maximum number of files that can be stored as edlalocument for each
business report is 12.
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(6) If related document with a high level of comiiality is stored, a password is set
for the file(s). A password is composed of sixymre single-byte alphanumeric
characters that should include at least one upgs-character, one lower-case
character, and one numeric character.

[Technology]
Q97. When Mr. Taro Joho of the general affairs departncemates a business report for the
second week of September in 2010, which of th@fahg is an appropriate filename?

a) Report_100902TaroJoho b) Report_10092TaroJoho
c) Report_10902TaroJoho d) Report_1092TaroJoho
[Technology]

Q98. When a template file is used to create a new anbssireport with word processing
software, which of the following is an approprigtecedure?

A: Open the file “BusinessReport(Template)” in tAerhplate” folder.

B: Copy the business report from the personal fotdethe “Reports” folder, and
then delete the business report in the persondéifol

Assign the predefined filename and save tharfithe “Reports” folder.

Assign the predefined filename and save tharillae personal folder.

Overwrite the file.

Write the report.

Close the word processing software.

@ T moO0

a A C-o>F—-E—->G
b A~ D-F—-E—>G—-B
¢c) Ab E-F—->C—->G—B
d A F-E—->G—-B
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[Technology]

Q99. A decision is made to give a filename to each edlalocument so that the related
documents are displayed along with the reporthién“Reports” folder when they are
sorted by filenames in alphabetical order. Whithhe following is an appropriate
format of filenames for related documents that sékis requirement as well as the
requirements in Table 1? Hereis a number that represents the sequential nuafber
the related document, and the numben’sfrepresents the number of digits.

a) “Related " 0 +“_Report_" + yymm + w + creator’s name
b) “Related " +nhn+*“ Report_" + yymm + w + creator’s name
c) “Report "+ yymm + w + creator’s name + “_Relaté +n

d) “Report_”+yymm + w + creator’s name + “_Rethté + nn

[Technology]
Q100. Which of the following is an appropriate passwasdset for a related document file
with a high level of confidentiality?

a) Da8e9 b) Hdfpfgh c) W28t53 d) z32e2bk
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